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n
a a a
10 2180 +243 446 =56 262 + 37 76 12 784 =100 61 =+ 23
8 2419 +247 491 =85 302 =32 88 410 881 =118 15 =+ 17
0.05 0.01
(9=
n
10 2262 4235 464 =45 326 =32 96 +13 885 =+ 85 97 =+ 32
10 2386 213 497 =60 343 =41 104 =11 943 =97 70 =+ 41
1kg kcal/kg ,
kg / / ME CP
He 65 4000 8
=) 6.0 40 240 784 306 33 2200 30
? 7.0 40 280 885 316 15
g 7.0 75 525 881 596 05
Q 8.0 75 600 943 636 100 3300 15
2800 17
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~ nL( a( b(
s 6 753x06 202404 2407 10 570=x46 31=x10 22412 a
a
¢ 7 741x06 22004 27=x07 10 51637 21=x13 2308
s 7 76406 21004 14+ 0.5:| 8 532x25 2307 100=x 1.7}C
c
¢ 7 74510 21806 2009 10 51430 12=+x03 102=#23
, 0.01 , 0.01
( ) 31 2



